EX+—42JIILAKE 2020.8.9

1| 2| 3 |IES D 10 | 11 | 12 | Bz
1 gﬁ(&ct,’f* 1—6|/6—2| 2 10 (rﬁ\/’;ﬁc%ﬁ) 2—6|6—1| 2
2 (Pﬁﬁﬁﬁ) 6—1 6—1| 1 || 11 _'é’_g';,f';m 6—2 6—3| 1
3 Rﬁ‘(:;laj;iﬂi 2—6(1—6 3 12 (Iﬁﬁbﬁ)ﬁ) 1-6|3—6 3
4 | 5 | 6 |IEM E 13 | 14 | 15 | 16 | JEfL
4 (ﬂ&/@_}#ﬂﬂf) 7-5|4—6| 2 ||13 ﬁ‘zkoﬁ‘zf 6—2|6—1 1
5 Eg,}%’; 5—7 1-6| 3 | |14 JHIE ,_g 3-6| 3
6 ’"(éGl':ﬁT 6—4|6—1 1 |15 BELE g 7-5| 2
16 ﬂ”(%,}f‘gm 6—3|5—7 1
7| 8 | 9 |[IE
7 ﬁfé;‘:’)* 0—6(2—6| 3
8 ig,}:ﬁf 6—0 6—2| 1
9 E(ZIST??)% 6—2(2—6 2

FR)—U - REb—F A
BEASAEIZRIT ER—ILERBIT TS,
BEFY—ERAKDOHTY,

LOSTTORH-FH-BHEFCOTELTEIERZAVFERA,

AERBEEICAYELOEF (FFRONIO—MIBAYLESEL,




6L b—F A2k

fiE < - = H

B
Y
E

}FII
AN
A

- Rl

2

6

fn
=
/N
]

- B

2

6

L

A
*

- Y

B
Y
E

&K - EK

2L k—F A b

7
1573
i
7K

B
Y
E

B
Y
E

¥
M
%
#

0

6

B
Y
E

b L

i
B
L
=

ML b—F A b

XHH - £ H

B
Y
E

B
Y
E

3
*
7
&

2

6

=
F
/

ith

B
Y
E

I

==
A
7K
-
/B
7K



E¥H-ZFSFTILAKE
FR)-Y

A 1 2 3 4 B =1 4L

ngn - =4
1 ( hoEn) 6-4 3-6 1 1 3

9 ED- KR
(PEAP’s t'§"—Y)

#E-E _ —
3 (o 2) 6-3 3-6 1 1 2

4 (7,?’_;?;1& ) 6-2 6-3 2 0 1

B 5 6 7 8 B =1 4L

e -mn _ —
5 i S 7-5 6-0 2 0 1

KF-KIH
6 B dY 5-7 6-2 1 1 2

EA-AIE
(ZU-)

8 MR-

(E—>-CTT) 26 8 ! ! 3

c 7 8 9 B a8 JE 42

Bl
(ZU-)

WL -Eh _ )
10 #-3) 1-6 7-6 1 1 2

11 TE-BA

(5v773Y—) e | &7 0 2 3

BT A0b

Al hE-EK
(FY—-ER—>) 6
c3 A -8A 1
(37y72)—) 2
B4 B -fE 6 6
(Z1—=) 3
A3 ngh-EH
(43> &in)
Ci =8
(Z1—=) 6
A2 HE-#EE 7
(HI&ED) 5
B2 AKF-KH 7
(HBLBLY) 6
c2 WA - 2
#-3) 5
B3 M-I 7
EF-Y-ctt 4
A Ba-KR 6
(PEAP’s t'§"—Y) 0
B1 A -HE 6

(EH—)
aAVYLhFAUE

SER-BA
(37y72)—) 4
EW-4%H 6
(2Y—-)
WA 6
H-37) 6
R - /NI 2
EF -y ctt 1

#E-#8H
(AEY)

FiE—7 - REE b —F AV

64— LS

BEMNREICZRT ER—ILERIT TS,
BEFY—ERIKXOHTT,
LOSTTOERY-BH-FHFCOEELTIFEFZAVERE A,
HERBEFRICRYELLSEF LROMNCO—MIBAYLLZSL,




